i
I
iy
Tl
P=ai
i

1. ¥4
kG4 BTN 6 A FERAAHD B TS TR A A A R E R E S
BT AT AT BESE#5 AT

2. EHEAR

1) FHEI4 WA FE A & R
2) JBATHIM 365 H H &% 64 47 1H

E 4 T8 3H31H

3) PN

4) EBNE

- Etzz@y  AbkEt 5w R



B
EW4 | BN 6 AR F BT A E S BHERES ER TR FHEE BHERR
H H WL E
TEHA - LfE - R =AY VA * & A Wl B N R
WO Bh AT B = 21, 864, 600
HY B B ERR 355 = 21, 864, 600
RYBS I BHE R ESS = 21, 864, 600 | I &+
12 H
kW EE
1 =
EEMER (1)
24 H
EEHER (1)
160 H
[R5 = 833, 208
RS T¢ = 833, 208
AVA=NZ S iy = 833,208 | XV 3L Y —2fk
24 A
CADY 7 kU —&{X
24 A
ERREM (ZOtFEMmER<) =X 22,697, 808
Z O FA =X 7,287,471
— RS L = 16, 144, 721
SEVS A = 46, 130, 000

=R oS KN o723 S



